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Methodology

i

Which language teaching method does the principle “Analogy provides a better
foundation for language learning than analysis” belong to?

1) The Direct Method

2) The Audio-Lingual Method

3) The Grammar Translation Method

4) Situational Language Teaching

Which language teaching method puts emphasis on learning the most functional
and versatile vocabulary of the language?

1) Desuggestopedia 2) Community Language Learning

3) The Silent Way 4) Total Physical Response

According to Wilkins, which of the following is NOT true about synthetic language
teaching?

1) It focuses on the purposes for which people are learning a language.

2) Learners are exposed to limited samples of language.

3) Language rules are learned in an additive fashion.

4) Language is taught piece by piece.

Which of the following is TRUE about conversation-facilitation dialogs?

1) They lead students to inductive recognition of target rules.

2) They are often used for the sake of language analysis.

3) They often carry long and artificial sentences.

4) Students are expected to memorize them.

Why are methods more likely to solve beginning teachers’ problems compared to
approaches?

1) There is no right or wrong way of teaching according to a method.

2) Methods clearly tell teachers both "what to teach" and "how to teach".

3) Methods tend to be interpreted differently by ditferent teachers.

4) Approaches tend to limit teachers more than methods.

Which of the following is TRUE about left-brain dominant learners?

1) They prefer multiple-choice tests.  2) They frequently use metaphors.

3) They are intuitive. 4) They are synthesizing readers.

Which compensatory strategy is concerned with overuse of words like “thing” or
“stuff”?

1) Circumlocution 2) Approximation

3) Use of all-purpose words 4) Appeal for help

According to attribution theory, which of the following is NOT a cause of success
and/or failure in achieving a personal objective?

1) Ability 2) Attitude 3) Effort 4) Luck

Why did the history of language teaching witness a shift toward deductive rule
learning in the cognitive approach?

1) To compensate for inadequacies of the Grammar Translation Method

2) To change the route of morpheme acquisition

3) To help learners acquire rules unconsciously

4) To emphasize meaningful language learning
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10- Which tasks often require students to derive new information by inferring it from
information they have already received?

1) Opinion-gap 2) Input-providing
3) Reasoning-gap 4) Information-gap
11- Who was the episode hypothesis proposed by?
1) John Oller 2) James Cummins
3) Robert Kaplan 4) Stephen Krashen
12- Which of the following is NOT a key element of cooperative learning?
1) Positive interdependence 2) Impulsivity
3) Individual accountability 4) Social skills

13- Which of the following are the activities typically done in content-based classes?
1) Dictogloss. process writing. dialogue journals
2) Dialogue journals, map drawing, reflective listening
3) Dictogloss, reflective listening, transformation drills
4) Process writing, jigsaw puzzles, transformation drills
14- Why did language aptitude tests such as MLAT and PLAB gradually lose their
popularity?
1) They were extremely difficult to administer.
2) It was later found that language aptitude varies by age.
3) The concept of language aptitude was no more studied as a trait.
4) They mostly measured the general intelligence or academic ability of students.
15- What kind of error is the learner who says “He can sings” making?
1) Global 2) Induced 3) Intralingual 4) Interference

Linguistics

16- Which of the following sentences would normally be considered an indirect speech
act?
1) You are advised against fishing alone.
2) I hereby apologize for my impolite behavior last night.
3) Why don’t we go to the museum near the Lebanese restaurant?
4) Once again, we respectfully request that you hand in your forms by May 17.
17- The statement Daffodils are flowers is an example of a(n) ........occovevinn
statement.
1) synthetic 2) irrational 3) contradictory 4)analytic
18- What is the relationship between the following two sentences?
My father teaches English and French at the college.
My father teaches English at the college.
1) The second sentence entails the first one.
2) The first sentence entails the second one.
3) The second sentence presupposes the first one.
4) The first sentence presupposes the second one.
19-  Which of the following verbs is used to perform a perlocutionary act?

1) Hurt 2) Declare 3) Ask 4) Approve
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20-

21-

22-

24-

25-

26-

27-

28-

29-

30-

In which of the following conversations is the maxim of manner violated?

1) Do you know what we are going to be tested on? Yeabh.

2) Where is Bill? There is a vellow BMW outside Sue’s house.

3) What are you baking? Be I are tea aitch dee ay wye see ay key ee.

4) Why didn’t you do your homework? May I go and get some water? I'm
thirsty.

Which of the following expressions would not be generated by the given phrase

structure rule: NP —(Art) Adj. N (5)?

1) Small girl who came 2) The boy who came

3) Long ladder 4) The tall boy

Which of the following is NOT an example of a commissive?

1) Promising 2) Volunteering 3) Betting 4)Condoling

The constative utterance has the property of being ......coiviviiiinnan s

1) explicit 2) true or false

3) implicit 4) performing an action

In the following sentence, the constituency test ...ccvviiiininnnnsn has been applied on

the constituent .......cvievieininnn
The boss says he's very sharp, and so he may be.
1) proform / is very sharp 2) coordination / is very sharp
3) movement / he is very sharp 4) replacement / very sharp
What is the function of with her new pen in the following VP?
wrote the note with her new pen
1) Head 2) Complement 3) Adjunct 4) Specifier
Which of the following does NOT have structural ambiguity?
1) The police arrested the burglar immediately.
2) The reporter talked about an explosion in Paris.
3) The house in the woods near the park was destroyed.
4) The police officer stopped the murderer with a knife.
What is the thematic role of each of the underlined expressions in the following
sentence?
Ann was reading stories to the kids in the garden.
1) Agent, theme, goal 2) Experience, theme. goal
3) Agent, theme, location 4) Experiencer, theme. location
John cannot name the foods he is shown, although he can describe what they look
like, what they taste like, and so on. John is suffering from ....................
1) aphasia 2) alexia 3) agraphia 4)anomia
Consider how the sounds of bold letters are produced in the following words.
Which features distinguish them from each other?

Hip hill
1) Voice and place 2) Manner and voice and place
3) Place and manner 4) Manner and voice
Move a is a general ......ccovvveinnnns that reorders nodes in trees.
1) transformation 2) structural relation

3) recursive rule 4) phrase structure rule
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